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W iE Hl e = 0.73 W1 CE B IE
HRAME 0.28 m’@uNy ok
D NyHKRYEBEAYLYIELELE = 59 n’/B
T Ny RVERA S Y ERRERE = 6.5 hr/8
Q NvIRYIEMLEYLIE 9.0 m'/hr
@ BAFTE B H=1EH] B 3 (a) +/ % JLEA B (b)
(a) =Wx H’ x15mx (1/D)
=0.73x1.330x 15 (1/59)
=0.25
(b) 10mZ Y BERA
x (15 "/10" x (1/6.5)
=0. 00
(a)+(b) =0.25+0.00 = 0.25
@ ERMEAH
(@ hxw= 010 x0.64=0.06 m
FTH&Y 36m’/8
(0.06x 15m).~ 36 = 0.03
@ EMBMERK
(a) &@E © 150 0.021
FTHELY 0.021 (A/m)
15mx  0.021 = 0.32
@ ERA% - BEEAK () + BHERBHK b)
0.165 0.37
(a)  FyEE#= (0.64x0.37-0.165 2x 7 /4-0.06 ) x15"/36 =
(b) HBREL=(62.69m/125.0m x{57x (1/36) =

[ER+Z2] [REER]

(@) + (b) = 0.06 +0.21 =
® SR ERH
TH&LY 10mz Y B
0.00 x (15"/10" = 0

0.21

0.27
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1R3> (15m) HY ITEEK

e

0.3 8
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0.3 8
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B B EAE
@ AR 0.3 8| | 0.3 H |
@ = 0.1 |8 | 015
® EHH 0.3 8|
i 0.1 8 1028 .
@ BR 0.3 8 | \ 0.3 8 |
® Blik 0.0 B 3 3 005‘
KA 0.6 8| | 0.6 8 |
HEIEH 0.7 B I 0.7 B
I UR—ILEET B
IR ATk
183 vhk—iL (H=3. 0LLF) 0.25 8 x 1.0 = 0.3 8
" (H=3.0~4. 0LLF) 0.26 @ x = 0.0 A
08 - HEA<T vR—IL  (H=2.0lF) 0.20 8 x = 0.0 A
" (H=2.0~3. 0LLF) 0.21 8 x = 0.0 A
BETUR—IL (H=0.0~3. 5L F) 0.09 B x = 0.0 A
LOVINRIT Uk—)L (H=1. 0LLF) 0.10 B x = 0.0 A
" (H=1.0~1.5L4F) 0.12 8 x 2.0 = 0.2 A
" (H=1.5~2. 0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2. 5LLF) 0.16 B x = 0.0 A
" (H=2.5~3. 0LLF) 0.18 8 x = 0.0 A
" (H=3.0~3. 5LLF) 0.20 8 x = 0.0 A
" (H=3.5~4. 0LLF) 0.22 8 x = 0.0 A
EIE®H it 0.5 A
TRERAEE  125.00m / 15.00 m 8.3 [ 8.3 [@
KR
KEIBE#%H ( 068 x 125.00m 15.00m + 058 ) x 1.0 = 558
VEREEE1. 0, BE51. 4
5.5 8
TEBHEIA%K 0.7 B x 125.00 m 15.00m + 058 = 6.3 A 6.3 H
THRBRH
TEEHNBHK 6.3 x 1.4 8.8 A 8.8 H



I 8 & ® X

INRJLR H= 20 m
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H' :1.64 - 0.0 = 1.64 m(PEZE 00 m
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HRAME 0.28 m’@uNy ok
D NyHKRYEBEAYLYIELELE = 59 n’/B
T Ny RVERA S Y ERRERE = 6.5 hr/8
Q NvIRYIEMLEYLIE 9 mn/hr
@ BAFTE B H=1EH] B 3 (a) +/ % JLEA B (b)
(a) =Wx H’ x15mx (1/D)
=0.90x 1. 640 x 15 (1/59)
=0.38
(b) 10mZ Y 1 BERA
1% (15 "/10" x (1/6.5)
=0.23
(a)+(b) =0.38+0.23 = 0.61
@ ERMEAH
(@ hxw= 010 x0.90=0.09 m’
FTH&Y 36m’/8
(0.09% 15m).~ 36 = 0.04
@ EMBMERK
(a) &@E © 150 0.021
FTHELY 0.021 (A/m)
15mx  0.021 = 0.32
@ ERA% - BEEAK () + BHERBHK b)
0.165 0.37
(a)  EyEE#= (0.90x0.37-0.165 2x 7 /4-0.09 ) x15"/36 =
(b) HBREL= (61.19™/68.0 ™) x1{5"x (1/36) =
[BERLE] [BRER]
(a) + (b) = 0.09 +0.37 = 0.46
® SHRFTERY
FTHELY  1my 012 8

0.12 x (15"/10" = 0.18

0.09

0.90

0.6 A
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I UR—ILEET B
IR ATk
183 vhk—iL (H=3. 0LLF) 0.25 8 x 3.0 = 0.8 B
" (H=3.0~4. 0LLF) 0.26 B x = 0.0 A
08 - HEA<T vR—IL  (H=2.0lF) 0.20 8 x = 0.0 A
" (H=2.0~3. 0LLF) 0.21 B x = 0.0 A
BETUR—IL (H=0.0~3. 5L F) 0.09 B x = 0.0 A
LOVINRIT Uk—)L (H=1. 0LLF) 0.10 B x = 0.0 A
" (H=1.0~1.5L4F) 0.12 B x = 0.0 A
" (H=1.5~2. 0LLF) 0.14 B x = 0.0 A
" (H=2.0~2. 5LLF) 0.16 B x = 0.0 A
" (H=2.5~3. 0LLF) 0.18 B x = 0.0 A
" (H=3.0~3. 5LLF) 0.20 B x = 0.0 A
" (H=3.5~4. 0LLF) 0.2 B x = 0.0 A
BIB%K it 0.8 H
T RBEAEX 68.00m / 15.00m = 4.5 [@ 4.5 [@
KR
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TEBHEIA%K .28 x 68.00m / 15.00m + 0.8 8 = 6.2 A 6.2 H
TRBIFY
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HRAME 0.28 m’@uNy ok
D Ay okHEBEALYIELEELE = 59 /B
T Ny YRIBEALYEGEBKE = 6.5 hr/A

Q NvIRYIEMLEYLIE 9.0 m'/hr
@ BAFTE B H=1EH] B 3 (a) +/ % JLEA B (b)
(a) =Wx H’ x15mx (1/D)
=0. 90 x 2. 380 x 15 x (1/59)
=0.54
(b) 10mZ Y 1.3 p&RA
1.3% (15 "/10" x (1/6.5)
=0.30
(a)+ () = 0.54+0.30 = 0.84
@ ERMEAH
(@ hxw= 010 x0.90=0.09 m’
FTH&Y 36m’/8
(0.09% 15m).~ 36 = 0.04
@ EMBMERK
(a) &@E © 150 0.021
FTH&Y 0.021 (A/m)
15mx  0.021 = 0.32
@ ERA% - BEEAK () + BHERBHK b)
0.165 0.37
(a)  EyEE#= (0.90x0.37-0.165 2x 7 /4-0.09 ) x15"/36 =
(b) HEREL= (83.9 "™/54.0 ™ x15"x (1/36) =
[BERLE] [BRER]
(a) + (b) = 0.09 +0.65 = 0.74
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FTHELY  1my 0.14 H
0.14 x(15"/10m = 0.21
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183 vhk—iL (H=3. 0LLF) 0.25 8 x 1.0 = 0.3 8
" (H=3.0~4. 0LLF) 0.26 B x = 0.0 B
08 - AT YhR—IL  H=2.0LTF) 0.20 B x = 0.0 B
" (H=2.0~3. 0LLF) 0.21 B x = 0.0 B
BETUR—IL (H=0.0~3. 5L F) 0.09 B x = 0.0 A
Lo VMR oR—)L (H=1. 0LLF) 0.10 B x = 0.0 A
" (H=1.0~1.5L4F) 0.12 B x = 0.0 A
" (H=1.5~2. 0LLF) 0.14 B x = 0.0 B
" (H=2.0~2. 5LLF) 0.16 B x = 0.0 B
" (H=2.5~3. 0LLF) 0.18 B x = 0.0 A
" (H=3.0~3. 5LLF) 0.20 B x = 0.0 A
" (H=3.5~4. 0LLF) 0.2 B x = 0.0 B
BIB%K it 0.3 H
T RBEAEX 54.00m / 15.00m = 3.6 [ 3.6 [@
KR
K&IB% ( 118 x 5400m / 15.00m + 038 ) x 1.0 = 438
VRSB0, BB51 4
4.3 B
TEBHEIA%K 1.6 @ x 5400m / 15.00m + 0.3 8 = 6.1 B 6.1 8
TRBIFY
TEEHAH 6.1 8 x 1.4 = 8.5 A 8.5 H
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T Ny RVEEALYEEMRE = 65 hr/B
Q Ry ORVIBMEYLTE 9.0 m'/hr

O ZAMEEH-EH B () +BEEMRAIREABH D) + TBXRIKE (o)

(@) =wWxH'" x4mx (1/D)
=1.00x1.58 x4 x (1/59)
=0. 11

(b) 1omZY 1.16
1.16x (4 "/10" x (1/6.5)
=0.07

© 10nxy
x(4
=0. 00

/107

(a)+(b) = 0.11+0.07=

@ EMBAEEH

(@) & ©100 0.018
TH&Y 0.018 (A/m)
4mx 0.018 =

@ BREH

0.114 0.1

HEREL= (16.0™/12.4 ™ x4"x
[ERLE] [KER]
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B
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Q NvIRYIEMLEYLIE 9.0 m'/hr
@ BAFTE B H=1EH] B 3 (a) +/ % JLEA B (b)
(a) =Wx H’ x15mx (1/D)
=0.90x 1. 710x 15 (1/59)
=0.39
(b) 10mZ Y 1 BERA
1% (15 "/10" x (1/6.5)
=0.23
(a)+(b) =0.39+0.23 = 0.62
@ ERMEAH
(@ hxw= 010 x0.90=0.09 m’
FTH&Y 36m’/8
(0.09% 15m).~ 36 = 0.04
@ EMBMERK
(a) &@E © 150 0.021
FTHELY 0.021 (A/m)
15mx  0.021 = 0.32
@ ERA% - BEEAK () + BHERBHK b)
0.165 0.37
(a)  EyEE#= (0.90x0.37-0.165 2x 7 /4-0.09 ) x15"/36 =
(b)  HERL=(157.44%/113.5m x5nx (1/36) =
[BERLE] [BRER]
(a) + (b) = 0.09 +0.58 = 0.67
® SHRFTERY
FTHELY  1my 012 8
0.12 x (15"/10m =  0.18
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183 vhk—iL (H=3. 0LLF) 0.25 8 x 1.0 = 0.3 8
" (H=3.0~4. 0LLF) 0.26 @ x = 0.0 A
08 - HEA<T vR—IL  (H=2.0lF) 0.20 8 x = 0.0 A
" (H=2.0~3. 0LLF) 0.21 8 x = 0.0 A
BETUR—IL (H=0.0~3. 5L F) 0.09 B x = 0.0 A
LOVINRIT Uk—)L (H=1. 0LLF) 0.10 B x = 0.0 A
" (H=1.0~1.5L4F) 0.12 8 x = 0.0 A
" (H=1.5~2. 0LLF) 0.14 8 x = 0.0 A
" (H=2.0~2. 5LLF) 0.16 B x = 0.0 A
" (H=2.5~3. 0LLF) 0.18 8 x = 0.0 A
" (H=3.0~3. 5LLF) 0.20 8 x = 0.0 A
" (H=3.5~4. 0LLF) 0.22 8 x = 0.0 A
EIE®H it 0.3 8
TREAEE  113.50m / 15.00 m = 7.6 @ 7.6 [@
KR
K&IBA% ( 098 x 113.50m / 15.00m + 038 ) x 1.0 = 7.1 8
VRSB0, BB51 4
7.1 H
THEHEITBH .48 x 113.50m / 15.00m + 0.3 8 = 10.9 H 10.9 H
TRBIFY
TEEHNBHK 1098 x 1.4 = 15.3 B 15.3 H
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T Ny oKRYBEALYEREEM = 6.5 hr/H
Q Ny IRYIEMLEYLIE 10.3  m*/hr

® ZAFREBK=IRHI B (a) +/3RILEABH (b)

(@) =Wx H' x15mx (1/D)
=0.90x2.710x 15 % (1/67)
=0. 55

(b) 10m Y 1.2
1.2x (15 /10" x (1/6.5)
=0.28

B

(a)+ (b) = 0.55+0.28 = 0.83

@ EHFEAR

(@ hxw= 010 x0.90=0.09 m

FTH&Y 33m’/8

(0.09x 15m)~ 33 = 0.04
@ EMBRAEAH
(@) E®E ©O150 0.021
TH&Y 0.021 (A/m)
15m x 0.021 = 0.32

@ EREH - BEEAN () + BBERB K O)
0.165 0.37

(a) FPERE= (0.90%0.37-0.165 2x 7 /4- 0.09 ) x15"33 =
(b) REL= (354 "/19.0 ™ x15"x (1/33) =
[ER+E] [REER]
(@) + (b) = 0.10 + 0.85 = 0.95
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" (H=3.0~4. 0LLF) 0.26 B x = 0.0 B
08 - AT YhR—IL  H=2.0LTF) 0.20 8 x = 0.0 B
" (H=2.0~3. 0LLF) 0.21 B x = 0.0 B
EET hR—IL (H=0.0~3. 5L F) 0.09 B x = 0.0 A
Lo VMR oR—)L (H=1. 0LF) 0.10 B x = 0.0 A
" (H=1.0~1.5L4F) 0.12 B x = 0.0 A
" (H=1.5~2. 0LLF) 0.14 B x = 0.0 B
" (H=2.0~2. 5LLF) 0.16 B x = 0.0 B
" (H=2.5~3. 0LLF) 0.18 B x 1.0 = 0.2 A
" (H=3.0~3. 5LLF) 0.20 B x = 0.0 A
" (H=3.5~4. 0LLF) 0.2 B x = 0.0 B
BIB%K it 0.5 H
T RBEAEX 19.00m / 15.00m = 1.3 @ 1.3 @
KR
K&IBA% ( 118 x 19.00m / 15.00m + 058 x 1.0 = 1.9 8
VEBE1.0, BE51 4
1.9 B
TEEI A .98 x 19.00m  / 15.00m + 058 = 2.9 A 2.9 8
TRBIFY
TREEHNBHK 298 x 1.4 = 418 4.1 8
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W iR H R = 1.00 w1 E B IE
R 0.28 n*@Nv ok
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T Ny HORDEELRAY Y EREE = 6.5 hr/B
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O RAREBH-EH BH (a) +BEMXREABR G) + LEXRIRE (o)

(a) =WxH’ x4mx (1/D)
=1.00x1.53 x4 x (1/59)
=0.10

(b) 10mZY 1.16

1.16x (4 "/10™ x (1/6.5)
=0.07
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x (4 "/10™)
=0.00
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0.114 0.1

HBRL= (8.9 ™/ 143 ™ x4"x
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1.1 8
TEEIEH 0.3 8 x 14.30m / 4.00 m = 1.1 8 1.1 8
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T Ny HORDEELRAY Y EREE = 6.5 hr/B
Q NV IRVIBHRLYLIIE 10.3  m*/hr

O RAREBH-EH BH (a) +BEMXREABR G) + LEXRIRE (o)

(a) =WxH’ x4mx (1/D)
=1.00x1.91x4x (1/67)
=0.11

(b) 10mZY 1.51

1.51x (4 "/10™ x (1/6.5)
=0. 09

(c) 10m%y

x (4 "/10™)
=0.00

(a)+(b) = 0.11+0.09=

® EMEZMEAH
(@) &M ©100 0.018

T4 &Y 0.018 (A/m)
4mx 0.018 =

@ EBEREH
0.114 0.1

BRL= (46 ™/ 29 ™ x4"x
[BERLE] [RER]
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TH&Y  1mHy 0.10
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